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1. Figure 1 shows two diodes with reverse saturation currents of Is, and Is, placed in series. (20%)
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Fig. 1

2. Figure 2 shows two diodes with reverse saturation currents of Is; and Is; placed in parallel. If the total
current is Iy, determine the current carried by each diode. (20%)
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3. If K =20 mA/V, what value of load resistance (Ry) in Fig. 3 is necessary to achieve a voltage gain of
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4. Write down the formulas of I, Ig, I, gm, Iy and r, of the BJT. (20%)

5. As depicted in Fig. 4, (a) Compute the Rin, Rout and voltage gain (Av) of Common-Emitter stage for

Va=w. (b) Compute the Rin, Rout and voltage gain (Av) of Common-Emitter stage for Va#o0. (20%)
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